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0747/ 23 – ВК.С 

      

      �86о64D=89 746од по 6ул. ЧеD6о=опD4поD=4, 135,1354,137 у 
�олоEVW6EPко<у D49о=V <. К8T64» 5-9 пуEко689 ко<плекE 3-W GеD78. 

КоD87у64==O. 
      

З<V=. КVл. �DкуH №док. �Vдп8EP Д4т4 

    !поDуд4 под6V9=о7о пD87=4Gе==O V7 
74E8E=8<8 6л4Eт86оEтO<8 EEо68I4 

!т4дVO �DкуH �DкуHV6 

� І � �47укV=     1 3 
� � �  ЯD8=4   

�.ко=тD. �47укV=   
!пеF8DVк4FVO уEт4тку64==O 68Dо5V6 V 

<4теDV4лV6 
&О� І�К «ОE=о64»  47D45от4л  о<4=Oк   

    

 

 

  

 

  

�о78FVO �48<е=у64==O т4 теE=VG=4 E4D4ктеD8Eт8к4 

&8п, <4Dк4, по7=4Gе==O 

доку<е=т4, оп8ту64лP=о7о 

л8Eт4 

Код о5л4д=е==O, 

68Dо5у, <4теDV4лу 
З46од-687ото6лN64G 

Од8=8F4 
68<еDу 

КVл-тP 

�4E4 
од8=8FV, 

к7 
�D8<Vтк4 

1 2 3 4 5 6 7 8 9 

  О5л4дн4ння               

1 '<864лP=8к кеD4<VG=89 V7 7<VHу64Gе< т4 E8Dо=о<       ко<пл. 5   

2 КеD4<VG=89 у=Vт47 7 коE8< 68пуEко< 6 ко<плектV 7 54Gко<       ко<пл. 5   

3 ДуHо64 к45V=4 V7 7<VHу64Gе< т4 E8Dо=о<       ко<пл. 2   

4 &D4п Ф50 6 ко<плектV 7 E8Dо=о<       ко<пл. 2   

         

  К4н4ліз4Fія К1 (7оEп-по5уто64)             

1 &Dу54 к4=4лV74FV9=4 7 полVпDопVле=у PPs Ф50    "Ostendorf" < 20   

2 &Dу54 к4=4лV74FV9=4 7 полVпDопVле=у PPs Ф110    "Ostendorf" < 8   

3 &Dу54 поло68=8лEлоD8д. KG Ф110 (6OпуEк) KG PVC    < 5   

4 Кл4п4= по6VтDO==89 Ф110     Hт 1   

5 �Vд6еде==O 90° 7 полVпDопVле=у PPs Ф50    "Ostendorf" Hт 3   

6 �Vд6еде==O 45° 7 полVпDопVле=у PPs Ф50    "Ostendorf" Hт 7   

7 �Vд6еде==O 45° 7 полVпDопVле=у PPs Ф110    "Ostendorf" Hт 2   

8 &DV9=8к 135° 7 полVпDопVле=у PPs Ф50E50E50    "Ostendorf" Hт 1   

9 &DV9=8к 135° 7 полVпDопVле=у Ф110E50E110    "Ostendorf" Hт 6   

10 &DV9=8к пDO<89 7 полVпDопVле=у PPs Ф50E50E50    "Ostendorf" Hт 2   

11 &DV9=8к пDO<89 7 полVпDопVле=у PPs Ф110E110E110    "Ostendorf" Hт 1   

12  е6V7VO 7 полVпDопVле=у PPs Ф110    "Ostendorf" Hт 1   

13 �DоG8Eтк4 Ф110    Hт 1   
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�о78FVO �48<е=у64==O т4 теE=VG=4 E4D4ктеD8Eт8к4 

&8п, <4Dк4, по7=4Gе==O 

доку<е=т4, оп8ту64лP=о7о 

л8Eт4 

Код о5л4д=е==O, 

68Dо5у, <4теDV4лу 
З46од-687ото6лN64G 

Од8=8F4 
68<еDу 

КVл-тP 

�4E4 
од8=8FV, 

к7 
�D8<Vтк4 

1 2 3 4 5 6 7 8 9 

  К4н4ліз4Fія н4піDн4 Кн             

1 &Dу54 PP Glass Ф32E4,4 PN16 SDR7.4  «Kan-therm» < 30   

2 
�4EоE дDе=46=89 Unilift CC5 A1 3 N=0.24к�т, 6 ко<пл. 7 76оDот. 
кл4п4=о< т4 74пVD=оN 4D<4туDоN 

Unilift CC5 A1   Grundfoss ко<пл 1   

3 
К4=4лV74FV9=4 =4EоE=4 уEт4=о6к4 Sololift2 WC-3 N=0.62к�т, 6 ко<пл. З 
76оDот. кл4п4=о< т4 74пVD=оN 4D<4туDоN 

Sololift2 WC-3   Grundfoss ко<пл 5   

4 �Vд6Vд 90° Ф32    Hт 12   

5 &Dу54 к4=4лV74FV9=4 7 полVпDопVле=у PPs Ф50    "Ostendorf" < 9   

6 Кл4п4= по6VтDO==89 Ф50     Hт 5   

7 !8Dо= Ф50    Hт 6   

 В1 (Eолодне 6одопоEт4ч4ння).        

1 &Dу54 PP Glass Ф20E2,8 PN16 SDR7.4  «Kan-therm» < 25   

2 &Dу54 PP Glass Ф25E3,5 PN16 SDR7.4  «Kan-therm» < 11   

3 &Dу54 PP Glass Ф32E4,4 PN16 SDR7.4  «Kan-therm» < 5   

4 &Dу54 PP Glass Ф40E5,5 PN16 SDR7.4  «Kan-therm» < 19   

5 КD4= H4Dо6O9 Ф15    Hт 8   

6 КD4= H4Dо6O9 Ф20    Hт 3   

7 КD4= H4Dо6O9 Ф25    Hт    

8 КD4= H4Dо6O9 Ф32    Hт 8   

9 З6оDот=V9 кл4п4= Ф20    Hт 1   

10 З6оDот=V9 кл4п4= Ф32    Hт 2   

11 &епло87олOF8O длO тDу5 Ф20, толI. 13 << K-FLEX ST 13E22  «K-FLEX» < 20   

12 &епло87олOF8O длO тDу5 Ф25, толI. 13 << K-FLEX ST 13E28  «K-FLEX» < 11   

13 &епло87олOF8O длO тDу5 Ф32, толI. 13 << K-FLEX ST 13E36  «K-FLEX» < 5   

14 &епло87олOF8O длO тDу5 Ф40, толI. 13 << K-FLEX ST 13E40  «K-FLEX» < 19   

15 КD4= пол864лP=89 Ф15    Hт 1   

16 �одо<VD=89 6у7ол Ф20 �К-6   ко<л 1   

17 �6то<4т. =4EоE=4 Eт4=FVO AQUAJET 82M-G (DAB) N=0,85к�т, q=0,6<3/7од AQUAJET 82M-G  DAB ко<л 1   

18 �Vд6Vд 90° Ф20    Hт 13   
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�о78FVO �48<е=у64==O т4 теE=VG=4 E4D4ктеD8Eт8к4 

&8п, <4Dк4, по7=4Gе==O 

доку<е=т4, оп8ту64лP=о7о 

л8Eт4 

Код о5л4д=е==O, 

68Dо5у, <4теDV4лу 
З46од-687ото6лN64G 

Од8=8F4 
68<еDу 

КVл-тP 

�4E4 
од8=8FV, 

к7 
�D8<Vтк4 

1 2 3 4 5 6 7 8 9 

19 �Vд6Vд 90° Ф25    Hт 7   

20 �Vд6Vд 90° Ф32    Hт 1   

21 �Vд6Vд 90° Ф40    Hт 8   

22 &DV9=8к  Ф20-20-20    Hт 5   

23 &DV9=8к  Ф25-20-25    Hт 4   

24 &DV9=8к  Ф32-25-25    Hт 1   

25 &DV9=8к  Ф32-25-20    Hт 1   

26 &DV9=8к  Ф32-40-32    Hт 1   

27 &DV9=8к  Ф40-40-40    Hт 6   

         

 Т3 (7оDяче 6одопоEт4ч4ння).        

1 &Dу54 PP Glass Ф20E2,8 PN16 SDR7.4  «Kan-therm» < 15   

2 &Dу54 PP Glass Ф25E3,5 PN16 SDR7.4  «Kan-therm» < 15   

3 КD4= H4Dо6O9 Ф15    Hт 1   

4 КD4= H4Dо6O9 Ф20    Hт 3   

5 &епло87олOF8O длO тDу5 Ф20, толI. 13 << K-FLEX ST 13E22  «K-FLEX» < 15   

6 &епло87олOF8O длO тDу5 Ф25, толI. 13 << K-FLEX ST 13E28  «K-FLEX» < 15   

7 �одо=47Dе64телP ARISTON SG 100V, е<к. 50 л N=1,5к�т (230�) SG 100V  «ARISTON» ко<пл 1  
� ко<плекте Eо 

пDедоED.кл4п4=о< 

8 �Vд6Vд 90° Ф20    Hт 6   

9 �Vд6Vд 90° Ф25    Hт 7   

10 &DV9=8к  Ф25-20-25    Hт 4   

11 &DV9=8к  Ф32-25-25    Hт 1   

12 &DV9=8к  Ф32-20-25    Hт 1   

         

         

         

         
 


